ASSEMBLY INSTRUCTIONS

STEP 1: POSITIONING THE TOP AND INSERTING THE DOWEL

WITH THE HELP OF SOMEONE ELSE PLACE THE TOP ON A FLAT SURFACE.
PLACE THE LEG IN POSITION AS SHOWN IN DETAIL A1,
INSERT THE WOOD DOWEL (10 X 40) INTO THE HOLE OFF THE TABLE LEG

REFERENCE IMAGES

DOWEL 10 X 40

TOP

DETAIL
" \
STEP 2: INSTALLING THE METAL BRACKET

PLACE THE METAL BRACKET, ALIGNING IT WITH THE HOLES AS SHOWN IN DETAIL B1.

METAL SQUARE

STEP 3: FINAL SECURING WITH HARDWARE DETAIL
(81)

INSERT THE SCREWS (CONNECTOR BOLT 1/4" X 3/4") INTO HOLES OF
THE LEG AND TABLE. REPEAT IT FOR THE REMAINING LEGS,
AS SHOWN IN DETAIL C1. TIGHTEN USING THE HEX KEY (5/32").

CONNECTOR
CONNECTOR

BOLT 1/4" X 3/4"
: BOLT 1/4" X 3/4"

DETAIL
(c1)
DESCRIPTION #
@ DOWEL 10 X 40 4
w CONNECTOR BOLT 1/4" X 3/4" 32
HEX KEY 5/32" 1

I-TBL-EO031



	Hoja4
	Vista de dibujo1
	Vista de dibujo2
	Vista de detalle A1 (1 : 8)
	Vista de dibujo4
	Vista de detalle B1 (1 : 7)
	Vista de dibujo6
	Vista de detalle C1 (1 : 6)
	Vista de dibujo9
	Vista de detalle AG (2 : 15)


